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Time 2:40 Hrs SECTION-B_ O
Q.2 Attempt any 9 questlo@ 0

u 1u
. Soive the \hhég} equations 2x+3y = -1, x=y = 2
Wg atrices.
i e 1626x 0
i, Simplify: : Sxyz
83 .
il. Slmplify 52y with the help of logarithm

iv. Find the value of ab+bc+ca, when atb+c = 14
and a*+b*-c*=78.
v. Factorize 2«*-".)(3 +3.
vi.  Find the square root of x* = 2x + 1 + 2xy = 2y +y-.
vii. Find the solution set of V2x — 7 + 8 =11
viii. Draw the graph of the equationy - 2x =6 | |
ix. Prove that A(-4, -3), B(l, 4) and C(6, | 1) are colline
x.  The sum of three consecutive odd integ mﬁé\lhe
numbers.. . i ’G
g int

xi. A line pare ersecting the

xi. <A Hose'foot is 2.5m from the front of a house
2 window 6m above the ground. Calculate the
~ length of a ladder.

SECTION-C Marks: 24
Note: Attempt any THREE questions:

Q.3: Prove that points A(-2, -2), B(4, -2), C(4, 6) are the
vertices of a right angled triangle. :

Q.4: If two angles of a triangle are congruent, then the side
opposite to these angles are congruent?

- Q.5: Any point on the right bisectors of a line segment is
equidistant from end points of the segment.

Q.6: Construct - Axyz when myz = 4.1cm, rnz:y=60° and
m£x=75".




